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THE OPEN UNIVERSITY OF SRI LANKA
FACULTY OF NATURAL SCIENCES
DEPARTMENT OF CHEMISTRY

BSC DEGREE PROGRAMME
UNDERSTADING LAW LLU3261

FINAL EXAMINATION

DURATION 2 HOURS

Date: 21-10-2022 Time: 2.00-4.00 PM

Total number of questions — 07

Answer only four (04) questions.

(1) (A) Law is an integral part of any organized modern society. What are the functions of
law?

(5 marks)
(B) Do you agree with following statement? Explain with providing reasons.

(a) One of the salient features of the Sri Lankan legal system is the existence of
different systems of personal laws (special laws) applicable to specific

communities.

(b) In any society, the existence of a legal rule (law) is fraceable to a particular
source. In any legal system, these sources are organized in a hierarchical manner.

' (10 x 2= 20 marks)
(25 marks)

(2) Advice the following parties about the court of law that they should refer their case.

(a) Sunil is an employee of a leading private company. His services are terminated by the
management based on a falsified charge, without conducting a disciplinary inquiry.
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(b) Suraj and Iraj are brothers who also co-own a portion of land inherited from their

parents. Suraj evicts Iraj from the land, and claims the entire portion belongs to him.
Iraj is seeking for a remedy.

(c) Vishwa participated in a series of protests to express his displeasure to the

government. One day, when coming home after the protest, he was assaulted by a
police officer who threatened him not to attend protests.

(d) Raju is'a student at the ABC university. The university decides to infroduce a new

circular making it mandatory for students to wear formal attire to the university. Raju
thinks the university administration is acting beyond its powers.

(e) Dharmika is married to Lakshman. Upon finding that Lakshman is cheating on her,

(3) (A)
(B)

Dharmika seeks to obtain a divorce.

(5%5 = 25 marks)

State how Dicey defines rule of law. (5 inarks)

(a}) The concept of supremacy of the parliament envisions that the sovereignty lies
with  the people, and people exercise sovereignty through elected
representatives.

Discuss the above statement by elaborating on the features of the concept
parliamentary supremacy.

(b) Judicial independence is integral to preserve rule of law. Discuss the
interrelationship between the rule of law and independence of the judiciary with
giving special attention to the provisions of the 1978 Sri Lankan constitution on
judicial independence.

(10x2=20 marks)

‘ {25 marks)

(4) Discuss the rights that are possibly infringed in the following scenarios.

(a) Rajitha is an editor of a newspaper. The govérnment introduces a new circular

requiring all editors to obtain prior approval for their editorials from the ministry of
internal affairs before the editorial is published.
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(b) Sumaiya belongs to a minority religious group of which the teachings require female
devotees to wear a particular attire when appear in public. The defense ministry bans
the use of the attire. -

(c) Sarath carns a doctoral degree from a world-renowned university and applies to an
academic position in a public university. He faces the interview with confidence. But
later he gets to know that a candidate who is less qualified than him but having the
backing of a powerful politician is selected and his name is rejected by the interview

panel.

(d) Maran is arrested by the police on the suspicion that he has committed a petty
offence. He was detained at the police station. At the night of the day of arrest, some
drunk police officials take Maran out from the cell and severely beats him causing

serious injuries.

(¢) Guru is a fiction writer, The theme of his newest novel is about child abuse that take
place in religious institutes. After the publication of the book, certain hardcore
religious believers create an outrage against Guru. The minister of cultural affairs
decides to ban the novel.

(5 % 5 =25 marks)

(5) Discuss the rights of the parties in the following instances.

(2) Namal offers to sell a laptop to Anushka. However, Anushka on the belict that Namal
has offered to sell a Dell laptop, accepts the offer. Upon delivery, Anushka gets to
know that Namal had intended to sell his Lenovo laptop instead of the Dell laptop.

(b) Kumaran, who is a doctor, convinces his old age patient Mr. Abraham to transfer the
deed of his ancestral home to Kumaran’s name. Mr. Abraham’s relatives accuse
Kumaran of using his position for his personal advantage.

(c) Prakash promises his wife Shani to take her fora vacation in Malasiya during the
holiday season. However, due to financial difficulties, Prakash fails to do so. Shani’s
friends insist that she should sue Prakash for making a false commitment.

(d) Chandan, who is a drug lord threatens businessman Siraj to lease his office premises
to a friend of Chandan for a under priced value. Siraj agrees to sign the lease
agreement fearing that Chandan would harm his family,
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(e) Chandani is a 15-year-old schoolgirl. Janaka, his 21-year-old boyfriend convinces her
' to sell her valuable necklace given by her parents as a birthday gift to sister of Janaka.
Chandanti’s parents become outrageous after hearing the news. :

(5x5 = 25 marks) |
(6) Write short notes on the following.

{a) Revocation of an offer

(b} Exemption clauses

(c¢) Invitation to treat

(d) Counter offer

(e) Hlegal contracts (5%5 = 25 marks)

(7) (a) The Sri Lankan legislature has adopted a series of laws to ensure that the workers
in the country are given at least a minimum level of protection and they can live a
dignified live. Select three (03) legislations the palhament has enacted to ensure labour
welfare and discuss their functions.

(15 marks)
(b) Explain the different tests use by the courts to differentiate a worker from an
independent contractor. (10 marks)

(25 marks)
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